

ABC Bid Data

HAMPSTEAD 43275 X-A005(067)

PROJECT: STATE PROJECT NUMBER: FED. PROJECT NUMBER: DATE BIDS OPEN:	HAMPSTEAD 43275 X-A005(067) July 07, 2022, 2:00 PM	Awarded To:	BUSBY CONSTRUCTION INC. 71 ROUTE 111 ATKINSON, NH 03811	со.,	
SCOPE OF WORK:	Rehabilitation of a 42" cmp connecting Johnson's Pond under NH Route 111.	Amount:	\$347,198.00	Certified by:	PETER.E.STAMNAS
COMPLETION DATE: LOCATION:	June 02, 2023 Rockingham, District 6	Award Date:			Director of Project Development

Summary of Bidders

Contractor	Bid Amount	Rank
BUSBY CONSTRUCTION CO., INC.	\$347,198.00	A
71 ROUTE 111, ATKINSON NH 03811		
NORTHEAST EARTH MECHANICS LLC	\$480,452.50	В
159 BARNSTEAD ROAD, PITTSFIELD NH 03263		



ABC Bid Data

HAMPSTEAD

43275

				PS&E		BUSBY CONSTRUCTION CO., INC. 71 ROUTE 111 ATKINSON, NH 03811		NORTHEAST EARTH MECHANICS LLC 159 BARNSTEAD ROAD PITTSFIELD, NH 03263	
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total

Items

201.882	INVASIVE SPECIES CONTROL TYPE II	SY	75.00	\$12.00	\$900.00	\$14.00	\$1,050.00	\$15.00	\$1,125.00
202.42	REMOVAL OF EXISTING PIPE OVER 24" DIAMETER	LF	10.00	\$300.00	\$3,000.00	\$125.00	\$1,250.00	\$250.00	\$2,500.00
203.1	COMMON EXCAVATION	СҮ	15.00	\$22.67	\$340.05	\$31.00	\$465.00	\$25.00	\$375.00
203.5561	EAGRT PLATFORM PREFERRED	U	2.00	\$1,600.00	\$3,200.00	\$1,500.00	\$3,000.00	\$2,000.00	\$4,000.00
203.5562	EAGRT PLATFORM ALTERNATE	U	1.00	\$1,600.00	\$1,600.00	\$1,500.00	\$1,500.00	\$2,000.00	\$2,000.00
203.601	EMBANKMENT-IN-PLACE	СҮ	45.00	\$50.00	\$2,250.00	\$52.00	\$2,340.00	\$25.00	\$1,125.00
206.1	COMMON STRUCTURE EXCAVATION	СҮ	6.00	\$450.00	\$2,700.00	\$80.00	\$480.00	\$50.00	\$300.00
209.1	GRANULAR BACKFILL	СҮ	30.00	\$50.00	\$1,500.00	\$68.00	\$2,040.00	\$75.00	\$2,250.00
503.101	WATER DIVERSION STRUCTURE	U	1.00	\$25,500.00	\$25,500.00	\$10,700.00	\$10,700.00	\$20,000.00	\$20,000.00
503.201	COFFERDAMS	U	1.00	\$27,000.00	\$27,000.00	\$12,700.00	\$12,700.00	\$70,000.00	\$70,000.00
508.	STRUCTURAL FILL	СҮ	10.00	\$75.00	\$750.00	\$105.00	\$1,050.00	\$100.00	\$1,000.00
520.1	CONCRETE CLASS A	СҮ	6.00	\$1,300.00	\$7,800.00	\$3,000.00	\$18,000.00	\$1,400.00	\$8,400.00
520.2	CONCRETE CLASS B	СҮ	3.00	\$500.00	\$1,500.00	\$3,900.00	\$11,700.00	\$1,000.00	\$3,000.00
520.32	GROUTING VOIDS IN BACKFILL MATERIAL	СҮ	2.00	\$400.00	\$800.00	\$1,000.00	\$2,000.00	\$1,000.00	\$2,000.00
534.3	WATER REPELLENT (SILANE/SILOXANE)	GAL	2.00	\$100.00	\$200.00	\$200.00	\$400.00	\$200.00	\$400.00
544.1	REINFORCING STEEL (ROADWAY)	LB	250.00	\$4.00	\$1,000.00	\$15.00	\$3,750.00	\$4.00	\$1,000.00
585.2	STONE FILL, CLASS B	СҮ	10.00	\$75.00	\$750.00	\$95.00	\$950.00	\$75.00	\$750.00
593.411	GEOTEXTILE; PERM CONTROL CL.1, NON-WOVEN	SY	450.00	\$5.00	\$2,250.00	\$4.00	\$1,800.00	\$3.75	\$1,687.50
602.011	FILL MATERIAL FOR ANNULAR SPACE	СҮ	14.00	\$375.00	\$5,250.00	\$1,020.00	\$14,280.00	\$750.00	\$10,500.00
602.21036	POLYETHYLENE LINER FOR 36" PIPE	LF	96.00	\$195.00	\$18,720.00	\$770.00	\$73,920.00	\$1,950.00	\$187,200.00
603.37036	36" IMPROVED INLET END SECTION	EA	1.00	\$5,400.00	\$5,400.00	\$9,000.00	\$9,000.00	\$7,500.00	\$7,500.00
606.1255	BEAM GUARDRAIL (TERMINAL UNIT TYPE EAGRT, TL 2) (STEEL POST)	U	3.00	\$5,750.00	\$17,250.00	\$6,150.00	\$18,450.00	\$5,000.00	\$15,000.00
618.61	UNIFORMED OFFICERS WITH VEHICLE	\$	6,000.00	\$1.00	\$6,000.00	\$1.00	\$6,000.00	\$1.00	\$6,000.00
618.7	FLAGGERS	HR	600.00	\$40.00	\$24,000.00	\$50.00	\$30,000.00	\$35.00	\$21,000.00



ABC Bid Data

HAMPSTEAD

43275

X-A005(067)

				PS&E		71 R	TRUCTION CO., INC. OUTE 111 ON, NH 03811	NORTHEAST EARTH MECHANICS LLC 159 BARNSTEAD ROAD PITTSFIELD, NH 03263	
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total
619.1	MAINTENANCE OF TRAFFIC	U	1.00	\$24,000.00	\$24,000.00	\$14,000.00	\$14,000.00	\$10,000.00	\$10,000.00
619.25	PORTABLE CHANGEABLE MESSAGE SIGN	U	2.00	\$3,033.33	\$6,066.66	\$1,525.00	\$3,050.00	\$2,000.00	\$4,000.00
619.279	AUTOMATED TRAILER-MOUNTED SPEED LIMIT SIGN	U	2.00	\$2,500.00	\$5,000.00	\$1,600.00	\$3,200.00	\$1,500.00	\$3,000.00
621.23	RETROREFLECTIVE WOOD GUARDRAIL DELINEATOR	EA	6.00	\$50.00	\$300.00	\$11.00	\$66.00	\$10.00	\$60.00
622.1	STEEL WITNESS MARKERS	EA	2.00	\$10.00	\$20.00	\$40.00	\$80.00	\$75.00	\$150.00
645.3	EROSION STONE	TON	55.00	\$45.00	\$2,475.00	\$30.00	\$1,650.00	\$30.00	\$1,650.00
645.44	TEMPORARY SLOPE MATTING TYPE D (WILDLIFE FRIENDLY)	SY	60.00	\$4.00	\$240.00	\$5.45	\$327.00	\$8.00	\$480.00
645.512	COMPOST SOCK FOR PERIMETER BERM	LF	600.00	\$5.50	\$3,300.00	\$5.70	\$3,420.00	\$5.00	\$3,000.00
645.531	SILT FENCE	LF	1,200.00	\$3.50	\$4,200.00	\$3.30	\$3,960.00	\$5.00	\$6,000.00
645.7	STORM WATER POLLUTION PREVENTION PLAN	U	1.00	\$3,500.00	\$3,500.00	\$8,400.00	\$8,400.00	\$5,000.00	\$5,000.00
645.71	MONITORING SWPPP AND EROSION AND SEDIMENT CONTROLS	HR	60.00	\$90.00	\$5,400.00	\$100.00	\$6,000.00	\$100.00	\$6,000.00
645.72	FINAL WETLAND IMPACT REPORT	U	1.00	\$1,500.00	\$1,500.00	\$3,900.00	\$3,900.00	\$3,500.00	\$3,500.00
646.41	TURF ESTABLISHMENT WITH MULCH, TACKIFIERS AND HUMUS	SY	60.00	\$8.00	\$480.00	\$12.00	\$720.00	\$25.00	\$1,500.00
670.0491	CONSTRUCT AND REMOVE TEMPORARY ACCESS ROAD	U	1.00	\$17,228.00	\$17,228.00	\$7,500.00	\$7,500.00	\$7,500.00	\$7,500.00
670.0492	CONSTRUCT AND REMOVE TEMPORARY ACCESS ROAD	U	1.00	\$17,354.00	\$17,354.00	\$7,600.00	\$7,600.00	\$7,500.00	\$7,500.00
692.	MOBILIZATION	U	1.00	\$25,725.00	\$25,725.00	\$50,000.00	\$50,000.00	\$45,000.00	\$45,000.00
697.11	INVASIVE SPECIES CONTROL AND MANAGEMENT PLAN	U	1.00	\$1,800.00	\$1,800.00	\$2,000.00	\$2,000.00	\$2,500.00	\$2,500.00
699.	MISCELLANEOUS TEMPORARY EROSION AND SEDIMENT CONTROL	\$	2,500.00	\$1.00	\$2,500.00	\$1.00	\$2,500.00	\$1.00	\$2,500.00
1010.15	FUEL ADJUSTMENT	\$	2,000.00	\$1.00	\$2,000.00	\$1.00	\$2,000.00	\$1.00	\$2,000.00
			Totals:		\$282,748.71		\$347,198.00		\$480,452.50
			Alt. Totals:						
			Totals:		\$282,748.71		\$347,198.00		\$480,452



HAMPSTEAD

43275

X-A005(067)

	Description		1	A-Bidder		PS8	кЕ	
Item No.		Unit	Quantity	Unit Price	Total	Unit Price	Total	A-PS&E Difference
Items								
201.882	INVASIVE SPECIES CONTROL TYPE II	SY	75.00	\$14.00	\$1,050.00	\$12.00	\$900.00	\$150.00
201.882	REMOVAL OF EXISTING PIPE OVER 24"	LF	10.00	\$14.00		\$12.00	\$3,000.00	
203.1	COMMON EXCAVATION	CY	15.00	\$31.00	\$465.00	\$22.67	\$340.05	\$124.95
203.5561	EAGRT PLATFORM PREFERRED	U	2.00	\$1,500.00	\$3,000.00	\$1,600.00	\$3,200.00	(\$200.00)
203.5562	EAGRT PLATFORM ALTERNATE	U	1.00	\$1,500.00	\$1,500.00	\$1,600.00	\$1,600.00	(\$100.00)
203.601	EMBANKMENT-IN-PLACE	CY	45.00	\$52.00	\$2,340.00	\$50.00	\$2,250.00	\$90.00
206.1	COMMON STRUCTURE EXCAVATION	CY	6.00	\$80.00	\$480.00	\$450.00	\$2,700.00	(\$2,220.00)
209.1	GRANULAR BACKFILL	СҮ	30.00	\$68.00	\$2,040.00	\$50.00	\$1,500.00	\$540.00
503.101	WATER DIVERSION STRUCTURE	U	1.00	\$10,700.00	\$10,700.00	\$25,500.00	\$25,500.00	(\$14,800.00)
503.201	COFFERDAMS	U	1.00	\$12,700.00	\$12,700.00	\$27,000.00	\$27,000.00	(\$14,300.00)
508.	STRUCTURAL FILL	CY	10.00	\$105.00	\$1,050.00	\$75.00	\$750.00	\$300.00
520.1	CONCRETE CLASS A	CY	6.00	\$3,000.00	\$18,000.00	\$1,300.00	\$7,800.00	\$10,200.00
520.2	CONCRETE CLASS B	CY	3.00	\$3,900.00	\$11,700.00	\$500.00	\$1,500.00	\$10,200.00
520.32	GROUTING VOIDS IN BACKFILL MATERIAL	CY	2.00	\$1,000.00	\$2,000.00	\$400.00	\$800.00	\$1,200.00
534.3	WATER REPELLENT (SILANE/SILOXANE)	GAL	2.00	\$200.00	\$400.00	\$100.00	\$200.00	\$200.00



HAMPSTEAD

43275

X-A005(067)

				A-Bid	der	PS8		
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	A-PS&E Difference
544.1	REINFORCING STEEL (ROADWAY)	LB	250.00	\$15.00	\$3,750.00	\$4.00	\$1,000.00	\$2,750.00
585.2	STONE FILL, CLASS B	CY	10.00	\$95.00	\$950.00	\$75.00	\$750.00	\$200.00
593.411	GEOTEXTILE; PERM CONTROL CL.1, NON- WOVEN	SY	450.00	\$4.00	\$1,800.00	\$5.00	\$2,250.00	(\$450.00)
602.011	FILL MATERIAL FOR ANNULAR SPACE	CY	14.00	\$1,020.00	\$14,280.00	\$375.00	\$5,250.00	\$9,030.00
602.21036	POLYETHYLENE LINER FOR 36" PIPE	LF	96.00	\$770.00	\$73,920.00	\$195.00	\$18,720.00	\$55,200.00
603.37036	36" IMPROVED INLET END SECTION	EA	1.00	\$9,000.00	\$9,000.00	\$5,400.00	\$5,400.00	\$3,600.00
606.1255	BEAM GUARDRAIL (TERMINAL UNIT TYPE EAGRT, TL 2) (STEEL POST)	U	3.00	\$6,150.00	\$18,450.00	\$5,750.00	\$17,250.00	\$1,200.00
618.61	UNIFORMED OFFICERS WITH VEHICLE	\$	6,000.00	\$1.00	\$6,000.00	\$1.00	\$6,000.00	\$0.00
618.7	FLAGGERS	HR	600.00	\$50.00	\$30,000.00	\$40.00	\$24,000.00	\$6,000.00
619.1	MAINTENANCE OF TRAFFIC	U	1.00	\$14,000.00	\$14,000.00	\$24,000.00	\$24,000.00	(\$10,000.00)
619.25	PORTABLE CHANGEABLE MESSAGE SIGN	U	2.00	\$1,525.00	\$3,050.00	\$3,033.33	\$6,066.66	(\$3,016.66)
619.279	AUTOMATED TRAILER-MOUNTED SPEED LIMIT SIGN	U	2.00	\$1,600.00	\$3,200.00	\$2,500.00	\$5,000.00	(\$1,800.00)
621.23	RETROREFLECTIVE WOOD GUARDRAIL DELINEATOR	EA	6.00	\$11.00	\$66.00	\$50.00	\$300.00	(\$234.00)
622.1	STEEL WITNESS MARKERS	EA	2.00	\$40.00	\$80.00	\$10.00	\$20.00	\$60.00
645.3	EROSION STONE	TON	55.00	\$30.00	\$1,650.00	\$45.00	\$2,475.00	(\$825.00)
645.44	TEMPORARY SLOPE MATTING TYPE D (WILDLIFE FRIENDLY)	SY	60.00	\$5.45	\$327.00	\$4.00	\$240.00	\$87.00



HAMPSTEAD

43275

X-A005(067)

				A-Bido	A-Bidder		RE	
ltem No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	A-PS&E Difference
645.512	COMPOST SOCK FOR PERIMETER BERM	LF	600.00	\$5.70	\$3,420.00	\$5.50	\$3,300.00	\$120.00
645.531	SILT FENCE	LF	1,200.00	\$3.30	\$3,960.00	\$3.50	\$4,200.00	(\$240.00)
645.7	STORM WATER POLLUTION PREVENTION PLAN	U	1.00	\$8,400.00	\$8,400.00	\$3,500.00	\$3,500.00	\$4,900.00
645.71	MONITORING SWPPP AND EROSION AND SEDIMENT CONTROLS	HR	60.00	\$100.00	\$6,000.00	\$90.00	\$5,400.00	\$600.00
645.72	FINAL WETLAND IMPACT REPORT	U	1.00	\$3,900.00	\$3,900.00	\$1,500.00	\$1,500.00	\$2,400.00
646.41	TURF ESTABLISHMENT WITH MULCH, TACKIFIERS AND HUMUS	SY	60.00	\$12.00	\$720.00	\$8.00	\$480.00	\$240.00
670.0491	CONSTRUCT AND REMOVE TEMPORARY ACCESS ROAD	U	1.00	\$7,500.00	\$7,500.00	\$17,228.00	\$17,228.00	(\$9,728.00)
670.0492	CONSTRUCT AND REMOVE TEMPORARY ACCESS ROAD	U	1.00	\$7,600.00	\$7,600.00	\$17,354.00	\$17,354.00	(\$9,754.00)
692.	MOBILIZATION	U	1.00	\$50,000.00	\$50,000.00	\$25,725.00	\$25,725.00	\$24,275.00
697.11	INVASIVE SPECIES CONTROL AND MANAGEMENT PLAN	U	1.00	\$2,000.00	\$2,000.00	\$1,800.00	\$1,800.00	\$200.00
699.	MISCELLANEOUS TEMPORARY EROSION AND SEDIMENT CONTROL	\$	2,500.00	\$1.00	\$2,500.00	\$1.00	\$2,500.00	\$0.00
1010.15	FUEL ADJUSTMENT	\$	2,000.00	\$1.00	\$2,000.00	\$1.00	\$2,000.00	\$0.00

\$347,198.00

\$64,449.29

\$282,748.71